Reebok

ZJET 460 ROWER

reebokfithess.com ASSEMBLY GUIDE N
Reebok




ZJET ROWER

ASSEMBLY GUIDE

Free area
0.6m

Free area
0.6m

Free area
0.6m

| 00 o
3¢c M8*50mm 2PCS 110 8*(19*2T 2PCS 3G M&*16mm 4PCS / @w@wgs@ |
29 || l0e ¢ IO 79k | 8v -
D— M6*20mm 2PCS 3/8-26*118mm 1PCS 3/8-26*9T 1PCS
Part No Description Q'ty | | PartNo Description Q'ty
2 Main frame 1 100 Adapter 1
27 Rail 1 103 Pedal Fixing Plate 1
75 Front foot 1 104 Pedal (L) 1
85 Rear foot 1 106 Pedal Strap 1
90 Saddle 1 109 Knob 1
98 Rear Rail Cover 1 114 Pedal (R) 1
*Max Load - 120kg
Independant / EMS Braking
System







ZJET ROWER

ASSEMBLY GUIDE

Parts List

NO Description SPEC. Qty NO Description SPEC. Qty
1 Co mputer 1 58 Spring box 1
2 Frame 1 59 Guiding wheel 1
3 Rope wheels PA 1 60 Big pulley 1
4 Bearings 60877 2 61 Axle ©22*815L 1
5 Bush ©19%¢15,.4 2 62 Bush P12*p16*4L 1
6 Screw M8*75L 1 63 Fixing plate 3T 2
7 Flat washer ©8*p19%2T 10 64 Bearing house 3T 2
8 Nylon nut M8 65 Bearing 600 12Z 2
9 Adjusting gaskets M8 4 66 Screw M5*12 1
10 Transmission belt 310J6 1 67 Flat washer ©5%p18*1.5T 1
1 Chain cover Left ABS 1 68 Screw M5%*6L 6
12 Chain cover Right ABS 1 69 Screw M6*12L 7
13 Small covers R ABS 1 70 Screw M3*8L 4
14 Small covers L ABS 1 71 Sensor wires 400L 2
15 Handlebar holder PP 1 72 Handlebar 1
16 Screws M5*12L 2 73 Handlebar cover ©25*5T*260L 2
17 Screws ST3.9*50L 5 74 End caps PVC 2
18 Screws 3/16" (#10) *3/4" 6 75 Front foot 500L 1
9 Flat washer ©8*p16*1.5T 2 76 Flat washer ©6.5%p16%2T 2
20 DC wire 600 L 1 77 Screw M6*10L 2
21 Tension wires 500L outlet 42 1 78 Transportation wheel 2
22 Motor 1 79 Screw 3/8*1BL 1
23 Screw M5*14L 9 80 Nylon nut 3/8*9T 1
24 Screw ST2.9x8L 40 81 Foot end caps 4
25 Screws M6*10L 8 82 Screw M8*50L 2
26 Flat washer ©6*p13*1T 17 83 Middle support pad 1
27 Rail 1220L 1 84 Rail reinforced tube 1
28 One way flywheel 0260*35W*6KG 1 85 Rear foot 1
29 Flywheel axle 3/8"*26*120L 1 86 Cable 1

30 Small pulley ©30%*8 1 87 Folding-seat 1
31 One way bearing D35*17L 1 88 Screw M8*16L 8
32 bearing 600 3RS 2 89 Saddle bracket 1

33 bearing 690027 2 90 Saddle 1
34 bearing 6300RS 1 91 Screw M6*32L 4
35 Screws 3.8T 3 92 Screw Mé6*16L 4

36 Nut 7T 2 93 Bush ©6.2%09%6.5L 4
37 Wave washer 0.3T 1 94 Wheel ABS+PU 4
38 Sleeve 3mm 1 95 Nylon nut M6 4

39 Magnetic system 1 96 Fixing bar 12*12*104 1

40 Screws M8*55L 1 97 Hexagon nut M8 1
41 Bearing 8 98 Rear rail cover ABS 1

42 Screws M8*27L 2 99 Crash pad PvC 2

43 Screws M6*55L 1 100 Adaptor 1

44 Hex nut M6 1 101 Lock sheet 4

45 Flat washer D6.5*p14*1T 1 102 Screw M6*20L 5

46 Nylon nuts M6 1 103 Pedal fixing plate 1

47 Nylon washer ©6.5%p19*1.5T 1 104 Pedal (L) PP 1

48 Idler plate 1 105 Small cover PVC 2

49 Idler wheel 1 106 Pedal strap 2

50 Bearing 6000 ZZ 2 107 Screw M8*40L 2
51 Wave washer ©10.2*p13*0.3T 1 108 Screw M5*12L 4

52 Flat washer ©8*p22*1T 1 109 Knob 1

53 Idler spring 1 110 Semicircle washer 4

54 Anti-loose screw M6*10L 1 m Flat washer ©6*p18*TT 8

55 Hexagon screw M8*20L 1 12 Harpoon wrench 2

56 Plastic washer ©8.5*p25*0.5T 1 13 Hexagon wrench 1
57 Rope and wheel 1 114 Pedal (R) PP 1

Exploded Diagram

L)
Reebok




ZJET ROWER

ASSEMBLY GUIDE

Folding and Transportation

A

14



ZJET ROWER
CONSOLE GUIDE

COMPUTER FUNCTIONS

SPM

Strokes per minute.

uu l.lll m u m 5
(L i

TIME/500m

Predicted time to complete 500m according to current speed.

METERS

Rowing distance.

DISTANCE

Accumulates the total distance between 0.0 and 99.9 Km or Miles.

RESET ECOVERY
CALORIES
DOW P Calories burnt during current workout.
STROKES
Number of rowing strokes completed during current workout.
MODE / ENTER START/STOP
PULSE
Record and display the users pulse rate.
BUTTON FUNCTIONS
UP RESET
Setting selection Clear setting value
Increase resistance level. Revert to main menu at the end of a workout

Reboot the console (if pressed for two seconds)

DOWN
START / STOP
Setting selection
Decrease resistance level. Start or stop a workout.
MODE / ENTER RECOVERY
Confirm setting or selection. Test your heart rate recovery.

REEBOKFITNESS.COM



ZJET ROWER s A

CONSOLE GUIDE Reebok
OPERATION PROGRAM MODE (P1-P12)
1. From the main menu, press UP or DOWN to select Program mode and press ENTER to confirm.
POWER ON . .
2. Press UP or DOWN to select profile (P1-P12) and press ENTER to confirm.
Once the pfwerj;‘pp['}y 'S Cot”netcr:ed' the ﬁomﬂ’l”tei W'”tt“rgé’” and all LCD segments will display for 2 seconds.If the 3. Press UP or DOWN to set your target RESISTANCE LEVEL, TIME, Meters (Distance), STROKES, CALORIES
roweris notusedtor s minutes, the console will enter standby and PULSE, and press ENTER to confirm. (Time and Meters cannot be preset at the same time.)

4. Press START/STOP key to begin your workout.

[soes|
IJPI I . .
| At any time during your workout;
. You adjustthe resistancelevel by pressing UP or DOWN.
. Pause workout by pressing START/STOP.
. Revert to the main menu by pressing RESET.

When you reach your target setting then you will hear a beep, and the console will stop.

MANUAL MODE

From the main menu, press START.

—_

2. Press UP or DOWN to select Manual mode.
) Pale P4 || ] ] ] ]
3. Press ENTER to confirm. [ [T [ [ 1 [ | [ | | | | |
L NINININININININNINNIN HEE NN ENEN NS NN
4. Press UP or DOWN to set RESISTANCE LEVEL, TIME, METERS (Distance), STROKES, CALORIES I e e e e e e e e I o e e e e e e o e e
and PULSE, and press ENTER to confirm (You cannot preset both time and Meters simultaneously). Program 1 Program 2
5.  Press START/STOP key to start workout.
L] ] 1] 1]
|| | || | 1 ] | Il Nl
- : EEENAN ANANAN SIS AN AN AN AN ANAN AN
At any time during your workout; N I e e e I P W P W W W W W 2
*  You can adjust the resistance level by pressing UP or DOWN. Program 3 Program 4
*  Pause your workout by pressing START/STOP.
. . . - 0 e e
Revert to the main menu by pressing RESET. “=== “‘=======
When you reach your target setting then you will hear a beep, and the console will stop. EEEEEEEEEEE EHHEEEEEEEEEE
a1 1 1 (| [ | | [ | | || a4 1 /| [ | [ | | [ ||
Program 5 Program 6
] ] 1]
| || 1 [ 1 |
AN N AN N N [ ISISISINISINIS IS N
1] ] 1] | | [ [ AAAAAA L1117
a1 1 1 J | | | | J | | || a1t 1 1 (/| [ | [ | | [ ||
Program 7 Program 8
= e e
HE [ | [ |
NN ISNISNINININN ANANANAN AN ANANANAN
L] AAAAAAAAAAAA AAAAAAAAAAA AL 717
.t 1 0 1 1 | ] [ | TN N N N I I O
Program 9 Program 10
e e e | |1 1] 1] 1]
1 1 [ | Nl | | || 1 |
| ININININ ANANANAN [ N NN I~ I~
[ 111~ L L1 [ ] 1] 1] 1]
a4 1 1 1 [ [ | a4 4 1 1 11 [ [ [
Program 11 Program 12

REEBOKFITNESS.COM



ZJET ROWER e A\

CONSOLE GUIDE AN Reebok

H.R.C MODE USER MODE

From the main menu, press UP or DOWN to select H.R.C. mode and press ENTER to confirm. 1. From the main menu, press UP or DOWN to select USER mode and press ENTER to confirm.

—_

2. Press UP or DOWN to set resistance level of each column, and press ENTER to proceed to the next segment. (Total
columns =16)

Press and hold ENTER to finish or quit setting.

4. Press UP or DOWN to preset TIME(or Meters), STROKES, CALORIES and PULSE, and press ENTER to confirm. (Time
and Meters cannot be preset at the same time.)

5. Press START/STOP key to start workout.

Press UP or DOWN to set AGE, and press ENTER to confirm.
Set your target pulse - Press UP or DOWN to select 55%, 75%, 90% or Target (default:100bpm).

Press UP or DOWN to preset TIME (or Meters), STROKES, CALORIES, and press ENTER to confirm.
(Time and Meters cannot be preset at the same time.)

HownN

5. Press START/STOP to begin your workout.

At any time during your workout;
At any time during your workout;

. Pause your workoutby pressing START/STOP.
. Pauseyourworkoutby pressing START/STOP.

. Revert to the main menu by pressing RESET.
. Revert to the main menu by pressing RESET.

When you reach your target setting then you will hear a beep, and the console will stop..
When you reach your target setting then you will hear a beep, and the console will stop.

RECOVERY MODE

You must wear a heart rate chest strap for this program.

RACE MODE

1. From the main menu, press UP or DOWN to select Race mode and press ENTER to confirm.

1. Once the pulse has been detected by the computer, press the RECOVERY key.

) 2. TIME will show “0:60" (seconds) and count down.
2. Press UP or DOWN to set your Challenge level and press ENTER to confirm. (Total level =15, L1=1:00 TIME/500M,
L15=8:00 TIME/500M, Increments default: 0:30 TIME/500M, Meters default:500M) 3. Oncompletion of the countdown the computer will show Flto F6 as an indication of
. . . your heart rate recovery score:
3. Press START/STOP key to begin your race. Press UP or DOWN to adjust resistance level.

4. When either the console or the User crosses the finish line the computer will stop and show

PC win or User win. F1 OUTSTANDING
5. Press START/STOP key to stop your workout. Press RESET to return to the main menu. F2 EXCELLENT
F3 GOOD
' Fa FAIR
t“m F5 BELOW AVERAGE
Wl F6 POOR

I
Nl
Jul

REEBOKFITNESS.COM



ZJET ROWER
CONSOLE GUIDE

FONCTIONS INFORMATIQUES

MPM (MOUVEMENTS PAR MINUTE)

':":‘.l:": ':":":“:' . 'z Mouvements par minute

LILPLI LILILIL

TEMPS/500 M

Temps prévu pour parcourir 500 m a la vitesse actuelle

METRES
Distance a ramer

CALORIES

Calories brdlées durant l'entrainement actuel

REINITIALISER ’ RECUPERATION
MOUVEMENTS

BAS HAUT Nombre de mouvements de rame effectués durant lentrainement actuel

FREQUENCE CARDIAQUE

Frégquence cardiaque durant lentrainement (battements par mi

TOUCHE ENTREE MARCHE/ARRET

/ MODE

FONCTION DES BOUTONS

HAUT REINITIALISER

Choix des parametres Effacer les valeurs des parameétres

Augmenter le niveau de resistance Revenir au menu principal a la fin d'un entrainement
Redémarrer la console (appuyer pendant deux
secondes)

BAS

Choix des parametres
Diminuer le niveau de résistance

MARCHE/ARRET

Commencer ou arréter un entrainement

TOUCHE ENTREE

Confirmer les parametres ou la sélection

RECUPERATION

Tester le temps de récupeération de la fréquence
cardiaque$

REEBOKFITNESS.COM



ZJET ROWER - A

UTILISATION MODE PROGRAMMES (P1-P12)

: 1. A partir du menu principal, appuyez sur HAUT ou BAS pour sélectionner le mode Programmes, puis sur la
APPAREIL ALLUME touche ENTREE pour confirmer votre choix.
Une fois le bloc dalimentation branchg, lordinateur sallume et tous les segments LCD s'affichent pendant 2 secondes. 2. Appuyez sur HAUT ou BAS pour sélectionner un profil (P1 & P12) puis sur la touche ENTREE pour confirmer.
Si le rareur nest pas utilisé pendant 4 minutes, la console se met en mode veille 3. Appuyez sur HAUT et BAS pour paramétrer le NIVEAU DE RESISTANCE, la DUREE, la DISTANCE, les

MOUVEMENTS, les CALORIES et la FREQUENCE CARDIAQUE que vous ciblez, puis appuyez sur la touche
ENTREE pour confirmer. (La durée et la distance ne peuvent pas étre paramétrées en méme temps,)

4, Appuyez sur MARCHE/ARRET pour commencer votre entrainement.

Bﬂﬂﬂ

I:"-"J Durant votre entrainement, vous pouvez a tout moment ;

S n
nn ; J ajuster le niveau de résistance au moyen des touches HAUT et BAS ;

)
l'.l

L

[ "L . vousinterrompre au moyen de la touche MARCHE/ARRET ;

. revenirau menu principal en appuyant sur REINITIALISER.

Lorsque les parametres que vous avez définis sont atteints, vous entendez un « bip », et la console sarréte,

MODE MANUEL

1. Apartir du menu principal, appuyez sur MARCHE. P — — - - - -
2. Servez-vous des fonctions HAUT et BAS pour sélectionner le mode manuel O P e e e Wt W e 2 2 2 N N P Pala PaPa PP
, . TN I N N Y N O O [ I N Y N O
3. Appuyez sur la touche ENTREE pour confirmer. Program 1 Program 2
4, Appuyez sur HAUT et BAS pour paramétrer le NIVEAU DE RESISTANCE, la DUREE, la DISTANCE, les
MOUVEMENTS, les CALORIES et la FREQUENCE CARDIAQUE puis appuyez sur la touche ENTREE = = = T
pour confirmer (il est impossible de paramétrer simultanément la durée et la distance). -EE VEEE 'EEEE 'EEEEEEEEE"'
5 Appuyez sur MARCHE/ARRET pour commencer votre entrainement. -====-====-===== ---““““““‘
Program 3 Program 4
Durant votre entrainement, vous pouvez a tout moment :
+ Ajuster le niveau de résistance au moyen des touches HAUT et BAS ;. = I
‘ . | | | | 1 1 1 [ |
+  Vous interrompre au moyen de la touche MARCHE/ARRET ; SISININN ANANAN ANANAN AN ANANAN
L AAAAAAA AL AL A7 | NAAAANA A A7
+  Revenir au menu principal en appuyant sur REINITIALISER. N N A I N A 0 v
Program 5 Program 6
Lorsque les parametres que vous avez définis sont atteints, vous entendez un « bip », et la console sarréte, - - —
| | | [ | ] |
[N N I~ N N L ININISNINININININN
[ -] ] 1] e P [ L AAAAAAAAA-17]
TN N N Y O I O O KT N N I O O
Program 7 Program 8
2 L1117
| | | [ | ] |
NN ISISIN NN N ANANAN AN AN ANANANAN
L] ( AAAAAAAAL AL | AAAAAAAAAAALA
NEE I N N N N N Y O I N N N N N N I
Program 9 Program 10
e e e | |~ L1 L1 L1~
[ [ | | [ [ 1 [ | [ | [ |
[ [SINININ ANANANEN N SN N AN
I o o 0 e e e ||~ 1] L1~ 11
a1 (1 1 ] 1 | [ | NN N I N N N N I B
Program 11 Program 12

REEBOKFITNESS.COM



ZJET ROWER
CONSOLE GUIDE I L\

Reebok

Mode Fréquence cardiaque

\ Mode UTILISATEUR
1. A partir du menu principal, appuyez sur HAUT ou BAS pour sélectionner le mode Fréquence cardiaque, . ‘ o o ‘
ouis sur la touche ENTREE pour confirmer votre choix 1. Apartr du menu pmnmpal, appuyez sur HAUT ou BAS pour sélectionner le mode UTILISATEUR, puis sur la touche
) ) ENTREE pour confirmer votre choix.
2. Appuyez sur HAUT ou BAS pour choisir IAGE, puis sur la touche ENTREE pour confirmer. ) , . ,
2. Appuyez sur HAUT ou BAS pour paramétrer le niveau de résistance de chaque colonne, puis appuyez sur la

3. Parameétrez votre fréquence cardiague : appuyez sur HAUT ou BAS pour choisir 55 %, 756 %, 90 % ou cible touche ENTREE pour atteindre le segment suivant. (Nombre total de colonnes : 16)
(parametre par défaut : 100 bpm).Press UP or DOWN to preset TIME (or Meters), STROKES, CALORIES, and . , , ) , . .
oress ENTER to confirm. 3. Appuyez sur la touche ENTREE et maintenir le bouton enfoncé pour terminer ou quitter les parametres.
(Time and Meters cannot be preset at the same time,) 4, Appuyez sur HAUT ou BAS pour configurer la DUREE (ou la Distance), les MOUVEMENTS, les CALORIES et la
4 Appuyez sur HAUT ou BAS pour configurer la DUREE (ou la Distance), les MOUVEMENTS, les CALORIES, FREQUENCE CARDIAQUE puis appuyez sur la touche ENTREE pour confirmer. (La durée et la distance ne
puis appuyez sur la touche ENTREE pour confirmer. (La durée et la distance ne peuvent pas étre peuvent pas &tre parametrées en méme temps)
paramétrées en méme temps,) 5 Appuyez sur MARCHE/ARRET pour commencer votre entrainement.

5 Appuyez sur MARCHE/ARRET pour commencer votre entrainement,

Durant votre entrainement, vous pouvez & tout moment :

Durant votre entrainement, vous pouvez a tout moment : . vous interrompre au moyen de la touche MARCHE/ARRET ;

+ vousinterrompre au moyen de la touche MARCHE/ARRET - revenir au menu principal en appuyant sur REINITIALISERWhen you reach your target setting then you

. revenirau menu principal en appuyant sur REINITIALISER will hear a beep, and the console will stop

Lorsque les parametres que vous avez definis sont atteints, vous entendez un « bip », et la console sarréte. Lorsque les paramétres que vous avez définis sont atteints, vous entendez un « bip » et la console sarréte..

Al ©

[0
I e
5\ NN ANANANARAR:

RACE MODE

1. A partir du menu principal, appuyez sur HAUT ou BAS pour sélectionner le mode Course, puis sur la touche MODE RECUPERATION
ENTREE pour confirmer votre choix

DISTANCE

LU

Pour effectuer ce programme, vous devez porter un capteur cardiaque.

2. Appuyez sur HAUT ou BAS pour choisir votre niveau de difficulté, puis sur la touche ENTREE pour confirmer. . . . N S . .
(Nombre de niveaux : 15 ; NI=100 TEMPS/500 m, Ni5= 800 TEMPS/500 m ; progression par defaut : 0:30 1. Une fois votre fréquence cardiaque décelée par lordinateur, appuyez sur la touche RECUPERATION.
TEMPS/500 m ; distance par défaut : 500 m) 2. La DUREE affichée sera « 060 » (secondes) et le compte & rebours sera déclenche.

3 Appuyez sur MARCHE/ARRET pour commencer votre course. Appuyez sur HAUT ou BAS pour ajuster votre 3 Une fois le compte a rebours terming, lordinateur affichera une évaluation de votre score
niveau de résistance. de récupération, de F1 a F6 .

4. Lorsque la console ou I'Utilisateur franchit la ligne darriveée, lordinateur sarréte et affiche le gagnant (la console
ou I'Utilisateur).

5. Appuyez sur MARCHE/ARRET pour interrompre votre entrainement. Appuyez sur REINITIALISER pour revenir Fi EXCEPTIONNEL
au menu principal, F2 EXCELLENT

F3 BON

F4 MOYEN

F5 INFERIEUR A LA MOYENNE
F6 MEDIOCRE

REEBOKFITNESS.COM



DER EINSTELLUNGEN

ZJET ROWER
CONSOLE GUIDE

A

' DE

Reebok

DD EEDE

<>

s

o0

{nnnn

oI

LILLIL)
u

3 CALORIES

6 KR /R /K

Ny
v LALILAL
I[EEYVVOR

g/
- - W G

ZURUCKSETZEN

DOW

UBERSICHT UBER DIE / MODE

TASTENBELEGUNG
UpP

Benutzen Sie diese Taste, um ein hoheres
Widerstands-

ISchwierigkeitslevel einzustellen und Ihre Auswahl zu
bestatigen.

DOWN

Benutzen Sie diese Taste, um ein niedrigeres
Widerstands-/Schwierigkeitslevel einzustellen und lhre
Auswahl zu bestatigen.

ENTER

Benutzen Sie diese Taste, um lhre jewellige
Einstellung oder Auswahl zu bestatigen.

RECOVERY

START / STOP

ZURUCKSETZEN DER EINSTELLUNGEN

Benutzen Sie die Reset-Taste, um zum HauptmenU
zuruckzukehren wéahrend Sie ein Trainingsprogramm
einstellen. Oder halten Sie die

Taste 2 Sekunden gedruckt, sodass der Computer mit
den ursprunglichen Einstellungen neu gestartet wird.

START / STOP

Drucken Sie diese Taste, um Ihr Training zu beginnen
oder zu beenden.

RECOVERY

Diese Programm-Taste testet Ihre
Regenerationsfahigkeit und gibt damit indirekt
Auskunft Uber |hre Fitness.

== Reebok

FUNKTIONSWEISE DES COMPUTERS
TRAININGSZEIT

Die Trainingszeit wird zwischen 0.00 und 99:59 (Minuten : Sekunden) gemessen.

GESCHWINDIGKEIT

Die momentane Trainingsgeschwindigkeit wird Ihnen von 00 und 999 km oder Meilen pro Stunde angezeigt.

ZURUCKGELEGTE DISTANZ

Gibt Aufschluss Uber die Gesamtdistanz. Anzeige von 00 bis 999 km oder Meilen.

KALORIEN

Gibt Ihnen an, wie viele Kalorien Sie wahrend |hres Trainings verbrennen. Anzeige von O bis 999,

PULS

Genaue Pulsermittlung und -Anzeige Ihrer Pulswerte von 30 bis 230 Schlégen pro Minute.
Ein Signalton warnt Sie rechtzeitig vor Erreichen des voreingestellten Zielpuls-Werts.

RPM (UMDREHUNGEN PRO MINUTE)

Gibt Ihnen an, wie viele Umdrehungen das Schwungrad pro Minute absolviert (O bis 999 Uimin).

REEBOKFITNESS.COM



ZJET ROWER A&

CONSOLE GUIDE == Reebok

PROGRAMM-MODUS (P1-P12)

BETRIEB 1. Im Hauptmenu mit NACH OBEN oder UNTEN den Programlnm-Modus wahlen und zur Bestatigung ENTER
drtcken.
EIN 2. Mit NACH OBEN oder UNTEN das Profil wahlen (P1-P12) und zur Bestatigung ENTER dricken.
Sobald das Netzteil angeschlossen ist, schaltet sich der Computer ein und alle LCD-Segmente werden ? mthﬁSg 2?22‘(‘);6;:? lErN Bii;?g&%'%iii@g%f@g%iiigﬁfgg‘éﬁiﬁ ﬁii’hfgﬁiigmg
fur 2 Sekunden angezeigt. Wenn der Ruderer 4 Minuten lang nicht benutzt wird, geht die Konsole in voreingestellt werden)
den Standby-Modus 4, Zum Start des Trainings START/STOP drucken.
Wahrend des Trainings kénnen Sie jederzeit
. Den Widerstand durch Drucken von NACH OBEN oder UNTEN regulieren.
. Das Training durch Drucken von START/STOP anhalten.
. Durch Drucken von RESET zum HauptmenU zurtickkehren,

Nach Erreichen der Zieleinstellung ertont ein Piepton und die Konsole stoppt.

MANUELLER MODUS

, o . % [ | = = = =
1. Driicken Sie im Hauptmen START. A A ] [ [ (] ]
ESESSSSSSSSSS  ER BR OBE =S EE.
2. Driicken Sie nach oben oder unten, um den manuellen Modus auszuwahlen. o o O 1 I
.. . pops Program 1 Program 2
3. Druicken Sie ENTER / MODE zur Bestatigung. 9 9
4., Driicken Sie nach oben oder unten, um WIDERSTANDSSTUFE, METER (Abstand), STROKE, KA-
. . T vops o . = L] L1 17
LORIEN und PULS einzustellen, und driicken Sie die Eingabetaste zur Bestatigung. (Sie kdnnen nicht [ [ ] . 1 [ | .
: o . . EANAN NSNS ANANANAN ANANANANANANANANAY
gleichzeitig Zeit und Meter voreinstellen). BN e e e e e I % % 9 % W W %t W %t Wt 2
I I I
5. Driicken Sie Start / Stopp, um mit dem Training zu beginnen. Program 3 Program 4
--ﬁ o e
Zu jeder Zeit wahrend des Trainings; ANANANANAN ANANANANAN AN AN ANANAN
1 2 e e Yt Vo o 2k 2k 2t 0 e V2t Y W Yt Vo Vot ot 2t 2
IR T N N A B B
Program 5 Program 6
. Sie konnen den Widerstandswert durch Driicken von oben oder unten einstellen.
. Halten Sie |hr Training an, indem Sie START / STOPP driicken. = - —
. . . (] (] [ 1 | 1 |
. Zurlick zum Hauptmenu durch Dricken von RESET. [ N N AN N N EEANANANAN AN ANANANAN
2 = e e P [ L
NN T I
Program 7 Program 8
Wenn Sie |hre Zieleinstellung erreichen, héren Sie einen Signalton und die Konsole stoppt.
= 0 e
| 1 1
RNAN ANANANANANAN ANANANANANANANANAN
= I %t 2 Vot % o 2 2k 0 YtV Y Vo o Yt 2t Vot 2 2 2
I O O O
Program 9 Program 10
I e e [ 1 1 1 [
1 [ 1 | 1] 1] ]
EEENANANAN ENANANAN AN ANAN NS AN
I e e 2 I e et . % T 1T
I 1 e I B
Program 11 Program 12

REEBOKFITNESS.COM



ZJET ROWER A

CONSOLE GUIDE == pReebok
H.R.C MODUS NUTZER-MODUS
1. Im Hauptmend NACH OBEN oder UNTEN drticken, um den HRC-Modus (Herzschlag) zu wahlen und 1. Im Hauptmenu NACH OBEN oder UNTEN drucken, um den NUTZER-Modus zu wahlen und mit ENTER bestéatigen.
mit ENTER bestatigen. 2. NACH OBEN oder UNTEN drucken, um den Widerstand jeder Saule einzustellen und mit ENTER zum nachsten
2. Mit NACH OBEN oder UNTEN das ALTER wahlen und mit ENTER bestatigen. Segment gehen. (Saulen insgesamt = 16)
3 Den Zielpuls einstellen - mit NACH OBEN oder UNTEN 55%, 75%, 90% oder Ziel wahlen 3. ENTER gedrtckt halten oder die Einstellung beenden.
(Standardeinstellung100 bpm), 4, NACH OBEN oder UNTEN drucken, um ZEIT (oder Meter), SCHLAGE, KALORIEN oder PULS zu wahlen und die

4. NACH OBEN oder UNTEN drticken, um ZEIT (oder Meter), SCHLAGE, KALORIEN zu wahlen und die Einstellung mit ENTER bestatigen. (Zeit und Meter kénnen nicht gleichzeitig voreingestellt werden.)
Einstellung mit ENTER bestatigen. (Zeit und Meter kdnnen nicht gleichzeitig voreingestellt werden.) 5. Mit START/STOP das Training starten.

5 Mit START/STOP das Training starten.

Wahrend des Trainings konnen Sie jederzeit:

Wahrend des Trainings konnen Sie jederzeit . Das Training durch Drlcken von START/STOP anhalten.
. DasTraining durch Drucken von START/STOP anhalten. . Durch Drucken von RESET zum Hauptment zurtickkehren.,
. Durch Drucken von RESET zum Hauptment zurtckkehren,

Nach Erreichen der Zieleinstellung ertont ein Piepton und die Konsole stoppt.

Nach Erreichen der Zieleinstellung ertdont ein Piepton und die Konsole stoppt.

/]
minn
gm [\

RENNMODUS ERHOLUNGSMODUS

1. Im Hauptmenu NACH OBEN oder UNTEN drtcken, um den Rennmodus zu wahlen und mit ENTER bestétigen. Fur dieses Programm mussen Sie einen Brustriemen zur Messung des Herzschlags tragen.

Sobald der Rechner den Herzschlag gefunden hat, ERHOLUNG drucken.

2. NACH OBEN oder UNTEN drtcken, um das Wettkampfniveau einzustellen und die Einstellung mit ENTER
bestatigen. (insgesamt =15 Stufen, L1=100 ZEIT/500M, L15=800 ZEIT/500M, Stufen: 0:30 ZEIT/500M, Meter:500M)

3. Zum Start des Rennens START/STOP druicken. Mit NACH OBEN oder UNTEN den Widerstand einstellen.

2. Die ZEIT wird als "0:60" (Sekunden) eingeblendet und zahlt herunter.

3 Nach dem Countdown zeigt der Computer F1 bis F6 an - je nachdem, wie schnell sich Ihr

4. Wenn die Konsole oder der Nutzer die Ziellinie Uberquert, stoppt der Computer und zeigt an ,PC gewinnt” oder Herzschlag erholt.
Nutzer gewinnt”,

5 START/STOP drucken, um das Training anzuhalten. Mit RESET zum Hauptmenu zurtckkehren. F1 BRILLANT
F2 SEHR GUT

A

F3 GUT
A F4 OKAY

. . F5 UNTERDURCHSCHNITTLICH

F6 SCHLECHT

Tuice
LI
JUl

REEBOKFITNESS.COM



ZJET ROWER

CONSOLE GUIDE

FUNCIONES DEL ORDENADOR

TIME[]500M
) ‘ ""'"'"" " S SPM (MOVIMIENTOS DE REMO POR MINUTO)

. (LI | GOLPES DE REMO POR MINUTO

SPH SO CAL0RES

TIEMPO/500M

Prediccion de tiempo para completar 500m segun la velocidad actual

S TR o TRV
5 A JiN14444 METROS
ht \ Distancia de remo
Wt
= DISTANCIA
REINICIAR X ECUPERACION NUmero de movimientos de remo completo durante el entrenamiento
ABAJ
ARRIBA CALORIAS

Calorias quemadas durante el entrenamiento vigente

STROKES
EN;I- I\F/{I?)DAE\ INICIARIPARAR Numlber of rowing strokes completed during current workout.
PULSO
Pulso durante el entrenamiento (latidos por minuto)
BOTON DE FUNCIONES REINICIAR
Despejar cualquier valor
ARRIBA Revertir al menu principal al final del entrenamiento
Seleccion de ajuste Reiniciar la consola (si se ha pulsado durante 2
Incrementar el nivel de resistencia segundos)
ABAJO INICIAR/PARAR
Seleccion de ajuste Iniciar o parar un entrenamiento
Disminuir el nivel de resistencia
RECUPERACION
ENTRADA Pruebe la recuperacion de su ritmo cardiaco

Confirmar la seleccion

REEBOKFITNESS.COM



ZJET ROWER

rm A

CONSOLE GUIDE Reebok

FUNCIONAMIENTO EN MODO PROGRAMAS (P1-P12)
ENCENDIDO 1

Una vez que la fuente de alimentacion esta conectada, el ordenador se encendera y todos los segmentos LCD se visualizaran 2

durante 2 segundos. Si el remo no se usa durante 4 minutos, la consola se pondra en modo de reserva (standby)
3 Pulse UP o DOWN para establecer su objetivo RESISTANCE LEVEL (Nivel de Resistencia), TIEMPO ,
METROS (Distancia), MOVIMIENTOS DE REMO, CALORIAS y PULSO, y pulse ENTER para confirmar (No
puede pre programar el Tiempo y los Metros simultaneamente).

From the main menu, press UP or DOWN to select Program mode and press ENTER to confirm.

Pulse UP o DOWN para seleccionar el perfil (P1-P12) y pulse ENTER para confirmar.

4. Pulsar START/STOP para empezar el entrenamiento.

En cualquier momento del entrenamiento;

. Puede ajustar el nivel de Resistencia pulsando UP o DOWN
. Pausar su entrenamiento pulsando el botdn START/STOP
. Volver al menu principal pulsando el boton RESET

Cuando alcance su objetivo establecido oira un pitido y la consola parara.
EN MODO MANUAL
1. Desde el menu principal, pulsar START
Pulsar UP y DOWN para seleccionar el modo Manual.

2.
3. Pulsar ENTER para confirmar.
4,

Py V< || L] L] = =
Pulsar ARRIBA 0 ABAJO para ajustar el nivel de RESISTENCIA, TEMPO, METROS (Distancia), MOVIMIENTOS =EEEEEEEEEEEE == EE EE EE EE'
i i ANAAAAAAAAAAAAAALATN Pl Pedld DNdVid PeVeVd
DE BEMQ, CALORIAS y PULSO, y pulse ENTER para confirmar (No puede pre programar el Tiempo vy los T Tt rrrrrrr+rrr—T1 I I B
Metros simulténeamente). Program 1 Program 2
5 Pulsar START/STOP para empezar el entrenamiento.
L L] 1] 1]
[ | ] [ | ] | 1 1 HE N
En cualquier momento del entrenamiento; [ NN ANANAN SISININ AN AN AN AN AN AN ANANAN
RN e e e e e | | AAAAAAAAAA AL
.+ Puede ajustar el nivel de Resistencia pulsando UP o DOWN A N N N Y N N A A v
Program 3 Program 4
Pausar su entrenamiento pulsando el boton START/STOP
Volver al menu principal pulsando el botéon RESET
Cuando alcance su objetivo establecido oira un pitido y la consola parara. T =] N N N NN
L AAAAAAAAA AL L AAAAAAAAALAAL L7
NI I I N N T N N N N I N
Program 5 Program 6
= = L1~
|| || | | [ ]
[ N N AN N N L NSNS NINININ
[ [ L] 1] e Pa | | L AAAAAAAAAL 1]
NDNEEEEEEEEENNEEEE EEEEEE ]
Program 7 Program 8
= I e e e
HE . | [ 1 |
AN ANANANANANAN S ISNISISISISINISIN
L] L AAAAAAAAAAAAA L AAAAAAAAAAAL LA
NI I I Y N N N N
Program 9 Program 10
I e e e [ [ 1] 1] L1
1 [ [ | [ | | [ | | [ | ] [ | ]
EEANANANAN ANANANAN [ N N AN N
I e e e e L1117 [ L] 1] L] L1
NI I N N T s I O O
Program 11 Program 12

REEBOKFITNESS.COM



ZJET ROWER PAN

CONSOLE GUIDE Reebok

USER MODE

En el menu principal, pulse UP 0 DOWN para seleccionar el modo USER y pulse ENTER para confirmarlo.

EN MODO H.R.C.

1. Desde el menu principal, pulse UP o DOWN para seleccionar el modo HRC. y pulse ENTER para confirmar.

2. Pulse UP o DOWN para establecer la AGE/EDAD, y pulse ENTER para confirmar.

2. Pulse UP o DOWN para establecer el nivel de cada columna, y pulse ENTER proceder al siguiente segmento.
(Columnas en total= 16)

3 Establezca su pulso objetivo - pulsando UP o DOWN para seleccionar 55%, 75%, 90% o Target/Objetivo
(por defecto100bpm).

4. Pulse UP o DOWN para programar TIEMPO (o Metros), MOVIMIENTOS DE REMO, CALORIAS y PULSO vy pulse
ENTER para confirmar. (Tiempo y Metros no se pueden programar al mismo tiempo,)

w

Pulse y sostenga el boton ENTER para acabar o salir.

Pulse UP o DOWN para programar TIEMPO (0 Metros), MOVIMIENTOS DE REMO, CALORIAS y PULSO y pulse ENTER
para confirmar. (Tiempo y Metros no se pueden programar al mismo tiempo,)

e

5 Pulse START/STOP | ent iento.
5 Pulsar START/STOP para empezar el entrenamiento. Hee para empezar & entrenamiento

‘ , En cualquier momento del entrenamiento puede:
En cualquier momento del entrenamiento puede;

. Pausar su entrenamiento pulsando el boton START/STOP ) Pausarsu entrenarmiento pulsando STAR/STOR

. Volver al menu principal pulsando el botén RESET ) volver al menu principal pulsando RESET

.- : L " . Cuando alcance su objetivo establecido oira un pitido v la consola parara.
Cuando alcance su objetivo establecido oira un pitido y la consola parara.

Y]
ERENRERNRRNRN

MODO RECUPERACION

MODO CARRERA Debe ponerse una correa para monitorizar los latidos del corazon para este programa.

1. Desde el menu principal, pulse UP o DOWN para seleccionar el modo "“Race’/Carrera y presione 1. Unavez que el pulso haya sido detectado poe el ordernador, pulse el botn RECOVERY

ENTER para confirmar. 2. TIEMPO mostrara ‘060" (segundos) y cuenta atras.
2. Pulse UP o DOWN para fijar su nivel “Challenge’/Desafio y pulse ENTER para confirmar. 3 Alfinalizar la cuenta atras, el ordenador mostrara F1 a F6, indicando el resultado de los latidos en la recuperacion.

3. Pulse el boton START/STOP para empezar su Carrera. Presione UP o DOWN para ajustar el
nivel de resistencia.

4. Cuando o bien la consola o el Usuario pase la linea de meta el ordenador pararé y mostraré PC win Fi EXCEPCIONAL
(el ordenador gana) o User win (el Usuario gana)
5 Pulse el boton STAR/STOP para parar el entrenamiento. Presione RESET para volver al menu principal. F2 EXCELENTE
F3 BUENO
A ] " F4 ACEPTABLE
g F5 POR DEBAJO DE LA MEDIA
Tl
i F6 MALO

REEBOKFITNESS.COM



ZJET ROWER
CONSOLE GUIDE

Reebok

HRCIAC

FUNCOES DOS BOTOES

SPM
r“'“'"" : .‘ Remadelas por minuto
LILILILY

TEMPO/500m

Tempo previsto para percorrer 500 metros de acordo com a velocidade actual.

METROS

Distancia de remadura.

DISTANCIA

Acumula a distancia total entre 00 € 999 quilbmetros ou milhas.

RECUPERACAO
CALORIAS

DOWN (Para baixo UP (Para cima) Calorias queimadas durante o treino actual

REMADELAS

Numero de remadelas efectuadas durante o treino actual

ENTRE (INTRODUZIR) INICIO/ PARAR _
/ MODE PULSACAO
Mede a rotagéo do volante de um minuto entre 0 e 999 rpm.
FUNCOES DOS BOTOES REPOR
. Limpar o valor das definicoes
UP (Para cima) Voltar ao menu Main (Principal) no final de um treino
Seleccao das Definicoes Reiniciar a consola (se premido durante dois
Aumentar o nivel de resisténcia segundos)
DOWN (Para baixo) INICIO/ PARAR)

Seleccao das Definicoes Iniciar ou parar um treino

Diminuir o nivel de resisténcia

RECUPERACAO

Testar a recuperacéo do ritmo cardiaco

ENTRE (INTRODUZIR)

Confirmar as definicdes ou a seleccéo

REEBOKFITNESS.COM



ZJET ROWER A

CONSOLE GUIDE Reebok
LIGAR MODO PROGRAM (PROGRAMA) (P1-P12)
1. Apartir do menu Main (Principal), prima UP (Para cima) ou DOWN (Para baixo) para seleccionar o modo
Assim que a fonte de alimentagé&o estiver ligada, o computador ira acender e todos 0os segmentos LCD ser&o apresentados Program (Programa) e prima ENTER (Introduzir) para confirmar.

durante 2 segundos. , . . . , ‘ :
2. Prima UP (Para cima) ou DOWN (Para baixo) para seleccionar o perfil (P1-P12) e prima ENTER (Introduzir)

Se 0s remos nédo forem utilizados durante 4 minutos, a consola ira entrar no modo de espera para confirmar.

3 Prima UP (Para cima) ou DOWN (Para baixo) para definir os alvos de RESISTANCE LEVEL (Nivel de
resisténcia), TIME (Tempo), Meters (Distancia), STROKES (Remadelas), CALORIES (Calorias) e PULSE
(Pulsacéao) e prima ENTER (Introduzir) para confirmar. (O Tempo e os Metros ndo podem ser predefinidos

; a0 mesmo tempo.
0 .
LA Gy 4. Prima a tecla START (Inicio)/STOP (Parar) para iniciar o treino.
'
M Hl:ls ;l:'lpﬂﬂ
Hﬂ 1 " 0000 Em gualguer momento durante o treino;
[ BUSHAAY

________ 'BUP . Pode ajustar o nivel de resisténcia premindo os botdes UP (Para cima) ou DOWN (Para baixo).
:ii ‘ I
U . Interromper o treino premindo o botdo START (Inicio)/STOP (Parar).

. Voltar ao menu Main (Principal) premindo o botao RESET (Repor).

MODO MANUAL

1. Apartir do menu Main (Principal), prima START (Inicio). Quando atingir a definicéo alvo ira ouvir um sinal sonoro e a consola ira parar.
2. Prima UP (Para cima) ou DOWN (Para baixo) para seleccionar o Modo Manual.
3. Prima ENTER (Introduzir) para confirmar. P [ | L] 2= 2= L]
- - . i : stenc O ESSEEEEES mE S NN S
4. 4. Prima UP (Para cima) ou DQV\/N (Para baixo) para definir o RESISTANCEI LEVEL (Nivel de reslstenma), e e e P P o e o P e P N N e P Para v
TIME (Tempo), METERS (Distancia), STROKES (Remadelas), CALORIES (Calorias)e PULSE (Pulsacéo) e NI I N A T I O
prima ENTER (Introduzir) para confirmar (N&o pode premir os botdes Time (Tempo) e Meters (Metros) Program 1 Program 2
em simultaneo).
. Prima a tecla START (Inicio)/STOP (Parar) para iniciar o treino. L] L] o 1]
5 aateclaS (INicio)/STOP (Parar) para iniciar o treino - - ———— -
[ NN ANANAN ANANANAN ANANAN AN ANANANANAN
I g N o e e e el | L AAAAAAAANAL- L1717
. a1 1 1 I | | | | | | || [ I N I O N I I
Em qualguer momento durante o treino; Program 3 Program 4
+  Pode ajustar o nivel de resisténcia premindo os botdes UP (Para cima) ou DOWN (Para baixo).
) : . - o = 0 e it et
Interromper o treino premindo o botao START (Inicio)/STOP (Parar). p— p—
) L ‘ . ANANANANAN ANAN AN AN AN ANANANANLEN
+  Voltar ao menu Main (Principal) premindo o botado RESET (Repor). I W o Vo Vo W L ANA T T T T
I I N N N N N N B N 1N N N N N N N N B
Quando atingir a definicdo alvo ird ouvir um sinal sonoro e a consola iré parar. Program 5 Program 6
- - L1~
|| || 1 1 [ |
AN ™~ AN N N [ ININISININININININ
L] e L1~ e Pd | | 1A AAAAAA 1]
a1 1 1 1 1 [ | | | | | N 1N N N N N N N B
Program 7 Program 8
- e e e e
Il 1 1 [ |
AN AN ANANANANLEN ANANAN AN AN ANANANAN
L] L AAAANA AL L NAAAAAANANA AL 1]
NN I N N N NN I I O O N I N N O I I I
Program 9 Program 10
111 | L] L1~ L1~ L1~
1 1 [ | [ | ] || || | |
| INISININ ANANANAN AN AN SN AN
| L1117 o o o | L] L1~ L1~ L1~
NN I N N N I O O O a1 1 1 ] 1 | [ ] |
Program 11 Program 12

REEBOKFITNESS.COM



ZJET ROWER A

CONSOLE GUIDE

Reebok

H.R.C MODE

1. A partir do menu Main (Principal), prima UP (Para cima) ou DOWN (Para baixo) para seleccionar o modo
HRC. e prima ENTER (Introduzir) para confirmar.Press UP or DOWN to set AGE, and press ENTER to
confirm.

2. Prima UP (Para cima) ou DOWN (Para baixo) para definir a AGE (dade) e prima ENTER (Introduzir) para
confirmar.

3. Defina a pulsacéo alvo - Prima UP (Para cima) ou DOWN (Para baixo) para seleccionar 55%, 75%, 90% ou
Target (Alvo) (predefinicao: 100 bpm).

4. Prima UP (Para cima) ou DOWN (Para baixo) para predefinir o TIME (Tempo) (ou Meters (Metros)),
STROKES (Remadelas), CALORIES (Calorias) e prima ENTER (Introduzir) para confirmar. (O Tempo e os
Metros n&o podem ser predefinidos ao mesmo tempo)

5 Prima START (Inicio)/STOP (Parar) para iniciar o treino,
Em qualquer momento durante o treino;
. Interromper o treino premindo o botéo START (Inicio)/STOP (Parar).

. Voltar aomenu Main (Principal) premindo o botédo RESET (Repor).

Quando atingir a definicao alvo ira ouvir um sinal sonoro e a consola ira parar.

Modo Race (Corrida )

1. Apartir do menu Main (Principal), prima UP (Para cima) ou DOWN (Para baixo) para seleccionar o modo Race
(Corrida) e prima ENTER (Introduzir) para confirmar.

2. Prima UP (Para cima) ou DOWN (Para baixo) para definir o nivel de Challenge (Desafio) e prima ENTER (Introduzir)
para confirmar. (Nivel total =15, L1 = 100 TIME (Tempo)/500 M, L15 = 800 TIME (Tempo)/500 M, Predefinicdo de
incrementos: 0:30 TIME (Tempo)/500 M, Predefinicédo de metros: 500 M)

3. Prima a tecla START (Inicio)/STOP (Parar) para iniciar a corrida. Prima UP (Para cima) ou DOWN (Para baixo) para
ajustar o nivel de resisténcia.

4. Quando a consola ou o utilizador atravessarem a linha de meta, 0 computado iré parar € apresentar PC win
(PC vence) ou User win (Utilizador vence).

5 Prima a tecla START (Inicio)/STOP (Parar) para interromper o treino. Prima RESET (Repor) para voltar ao menu
Main (Principal).

A i
I
QI

RN
4

Modo USER (Utilizador)

1. A partir do menu Main (Principal), prima UP (Para cima) ou DOWN (Para baixo) para seleccionar o modo USER
(Utllizador) e prima ENTER (Introduzir) para confirmar.

2. Prima UP (Para cima) ou DOWN (Para baixo) para definir o nivel de resisténcia de cada coluna e prima ENTER
(Introduzir) para avancar para o segmento seguinte. (Total de colunas = 16)

3. Prima e mantenha premido ENTER (Introduzir) para concluir ou sair das definicdes.

4. Prima UP (Para cima) ou DOWN (Para baixo) para predefinir o TIME (Tempo) (ou Meters (Metros)), STROKES
(Remadelas), CALORIES (Calorias) e PULSE (Pulsagéo) e prima ENTER (Introduzir) para confirmar. (O Tempo € 0s
Metros n&o podem ser predefinidos ao mesmo tempo)

5 Prima a tecla START (Inicio)/STOP (Parar) para iniciar o treino.

Em qualquer momento durante o treino;
. I nterromper © treino premindo o botdo START (Inicio)/STOP (Parar).

. Voltaraom enu Main( Principal)p remindo o botdo RESET( Repor).

Quando atingir a definicao alvo ira ouvir um sinal sonoro e a consola ira parar.

n |
m
/R
i
[

MODO RECO VERY (RECUPERA CAO)

Deve usar uma fita para o peito para medigéo do ritmo cardiaco para este programa.

1. Assim que a pulsagéo tiver sido detectada pelo computador, prima a tecla RECOVERY (Recuperacéo).
2. TIME (Tempo) iré apresentar “0:60" (segundos) e efectuar a contagem decrescente.

3. A pds a concluséo da contagem decrescente, 0 computador ira apresentar F1 to F6 (F1 a F6) como uma
indicag&o do resultado da recuperacéo do seu ritmo cardiaco:

F1 EXCEPCIONAL
F2 EXCELENTE

F3 BOA

F4 RAZOAVEL

F5 BAIXO DA MEDIA
F6 POBRE

REEBOKFITNESS.COM



ZJET ROWER
CONSOLE GUIDE

O Ea1—43 #EE

OCPNANA RGN HAC K SERREIEY B SPM
TIEJ]500M : PEHEYVDOR FO—o %
| |gﬁﬂﬂ | F¥fE / 500M

BEQREICEDE, 500m 27ET H-HOORBRMARTENET,

I*— kML
A O—4 >4 OaE
“%‘,’; TORQUEIDISTANCELLL] W PULSEA"AAY A ‘y'
A el VL r
Ht ‘ jj (. IJ -
! BENDT—H 7Y FhIsE&ET2H0—
Yty k i VA AbO—9%
- M BENDT—H 7Y bhIZRETET20—( V5 R FO—Y D%
+
SRR
Ak
D—o 7% DRI (1 9&H1=Y OIRIAR) .
HEE BAR/ =1k
/ MODE
R U HERE )tz k
E REEEIUTLET
) D—O 79 BB EAA A a—IZRYFET
B E IR VYL EBREELET 2 BULELES)
EHLRILELFET
BHtR/ =1k
T D—5 7Y EEEERELELET
SRR
BRLALVETFES JAHINY
DA OREEETANLET
fETE

REFITBRNBTERELFET
REEBOKFITNESS.COM



ZJET ROWER n A

1R1E [PROGRAM (7O45 35 L) | EF—F (P1~P12)

1. AAAZa—TUPI(LE) | Ffzl& TDOWN (F) | LT, Program (FAY 5 L) E— FZEER
POWER ON (FEjRA ) L. TENTER (RE%E) | 2L TRELET.
FEREANDE, AOVELA—ADEREAAIZHY, ICD AV A 2 BEIRTEIAET, 2 UPT(L) | F£1=1x TDOWN (F) | ##LTFA T 4—IJL (P12~P12) %:&IRL. TENTER (FEFE) | %18
O—7—% 4 HEERALERENECE, IV Y—ILIERE VN REIZR Y, LTRELET,

3. UP (k) 1 E£7=1&X TDOWN (TF) 1 ##LT. BIED RESISTANCE LEVEL (EHLANJL) | TIME (BRI

. METER (A—kJL) (BEB#) . STROKES (R +B—%5#0 . CALORIES (#EBY—) . &KV PULSE (Bk) #i%

FL. TENTER (FE%E) | 2L THELEI., HEHBEA—FLZRBCZIUEY FFTEIEETEEEA, )
4. START/STOP (EAfR/fZ1L) | ¥—%#WL T, D=9 7O FZERBLET,

PL—=2 TN DTHUTETSI I ENTEET,
UPI(L) 1 F7#=(F TDOWN (TF) 1 9 &, BRLANILERETEET,
START/STOP (BAtR/fZLL) 1 #/T L. 7T—U 7O b E—BEFLETEET,
RESET (Utwy k) | 29I L. A AZa—ICRYET,

MANUAL (¥=a217)JL) 1 E—F EERFICET L. E—TEANBY . OV Y—LAEIE LTS,
AL VA2 —SEART (BEIR) | £ELET.

—_

2. UP (k) 1 FfzI& TDOWN (TF) 1 ##LT. MANUAL (=2 7)) E—FEBRLET,
3. ENTHR (FERE o LTl [ | = = = [
(FEE) 1| ZHLEY e o E & & & &
4 UP (k) § &f=I& TDOWN (F) 1 #£# LT, RESISTANCE LEVEL GBHiLAL) | TME (BM) . R e P N e e e e
METER (A—kJL) (EERE) . STROKES (R kA—% #) .CALOREES (HBOY—) . &B&LU o 1 e 1 ]
PULSE (BR) £BELTAS. [ENTER (REE) | #BLTRELET Program 1 Program 2
(BEEA—MLZERBICT) Y T HILIETEERA) &
) &/1= — e & . L] 2 = 1]
5 STAHT/STOP (Bfta/fFLL) | ¥—%#L T, 7—O 77 r&RBLET - - e N
AN NSNS ANANANAN ENANANANANANANANAN
e e
FL—Z2THPNDTHEUTETI CEMNTEFET, Program 3 Program 4
TUP (k) 1 F7=IX TDOWN (F) | Z#F &, BRLANILZRETEETS,
[START/STOP (Bfta/fEik) | 23L&, T—U 7V b E—HELETEET, L 0 e
= NESS AN RSN ESANANAN
i as Cerm oy e SN
s 1
BEREISETHE. E—TEHBY. L Y—LHEBLELET, Pro :
gram 5 Program 6
= = %
[ [ [ [ [ ||
[ N N ANAN N N ENANANANANANANANAN
] [ T 2 P I N % % e W % 2 2 2 2 2 2
IR A A I I
Program 7 Program 8
[ I e e
| [ [ | |
AN ANANANANANAN ANANANANANANANANAN
[ [ ] 1 %t Vo Wt 2t ok Vo o I e 2 Y 2 W et W ot W ok ok
I Y A I
Program 9 Program 10
I e e e [ | 1] 1] 1]
[ || . | [ | .
EEANANANAN ANANANAN BN NN NN NN
I 2 e e % 2 e e e N % T %
N A I I
Program 11 Program 12

REEBOKFITNESS.COM



ZJET ROWER

CONSOLE GUIDE

H.RC.] E—F:

AL AZa—T TUP (k) 1 F£7f=1F TDOWN (F) 1 LT, HRC. E—FZZ;IRL. TENTER (B
E) | EWLTHEELET ., Press UP or DOWN to set AGE, and press ENTER to confirm.

TUP (k) 1 Ff=1& TDOWN (TF) | ##L T AGE (Z#5) #HEL. TENTER (FETE) | ##H L THE
LET,

TUP (k) 1 &#7=I1& TDOWN (TF) 1 #$#L T, 55%. 75%. 90% F7=IXBEHE (F7AJL b : 100bpm)
ZERLT. BERBEZEELES,

TUP (k) 1 E£1=I& TDOWN F) | ##L T, TIME (Bf) (Ff=I& METER (A—FkJL) ) . STROKE
(RrFO—9 %) . CALORIES (AhBY—) #FYtv L., TENTER (FEE) | #HLTHELZET,
(B EA—FMLZREICZTYEY FFBIEEFTEEREA, )

[START / STOP (BH#R/ELE) | ##WL T, 7—O 7 hEHBLET,

FL—=2 5D THEUTEITS ZEATEET,
START/STOP (BRtR/{Z1E) | 2T &, 7—H0F7 I 2 —HBELETEET,
RESET (WEv k) | ZHIE, AMUAZa—IZRYET,

BEREICETSHE, E—TENRY, aVY—LUAELLETS,

LSTROLES}
T}

CALORIES

IRACE (L—X) | E—F

1. AAA=a—7T., TUP (L&) | F£f=I& TDOWN (F) ] LT, Race (L—R) E— F#&&EIRL.
TENTER (FERE) | WL CTHELET,

2. TUP (L) 1 #fI& TDOWN (F) | LT Challenge Level (F¥ LI LANL) Z®EL. [TENTER (B
E) | #WLTHELES. (LANJLEE =15, L1=100 BERE/500M, L15 =800 BfE/500M, T 74 L kD1
SYERL 0 030 BERE/S00M, A— RILT AL b - 500M)

3. [START/STOP (BAth/{E1E) 1| ¥—ZML T, L—RZBBLET, TUP (k) 1 £=I1& TDOWN (F) 1 %
LT, BALRILERELET,

4, aAVY—I)IFELEFA NI ZEYEE, AVEI—FNEFIEL, PC B> E=haA—F -2k ER
rLET,

5. TSTART/STOP (FAfR/fZIE) | ¥—%#ML T, D—9 7O bE—BEIELFET, TRESET (Utw k) | ¢
FTE, A AZ—IZRYET,

W
I LU.I
l I
.

STROES
INRRAREAREARE e
A

. J
LT LU
7 “\ CALORIES

i

¢
WL R

a A

Reebok

[USER (—%—) | E—FK

1. AA2AZa—T TUP (L) 1| F£=I& TDOWN (F) 1 ##LT. USER (A—¥—) E—FZ#IRL. TENTER (B

E) | eHWLTHEELET.

2. UP (k) 1 £1=I& TDOWN (TF) 1 L T. &3 D Resistance Level B LARJL) ZH/HEL. TENTER (FEFE)

ZHLTROEST AV MZERET, (BI&E = 16)
3. TENTER (BEE) 1| R LL T, REFLTE=IEPIELFET,

4. TUP (L) J Ff=I& TDOWN (F) | ## LT TIME (BFR) (F71=IL METER (A—FkJL) ) . STROKE (R tA—
#) . CALORES (ARY—) . LU PULSE (k) #FJtv kL. TENTER (FEE) | L THERELET.
BEEA—MLZRBIZTV Y bR EETEEZEA, )

5. TSTART/STOP (BfR/fZ1E) | ¥—%#H|L T, 7—9 7 LE&BBLET,

FL—=U 5 DTHUTEITS ZEMNTEET,
START/ITOP (Bits/fE1k) | 2T &, D—H 79 b E2—BELTEET,
RESET (Utwv k) | T E, AV AZ21—IZRYFET,

BEHREICETSHE, E-TEANRY, aVV—LAFLELET,

==
CR =

=
=

TRECOVERY () #1/31)) ] £E—K

COTAYSLTIH. FEBX Sy TEFALTIESL,

1. AYEa—ZRIC&->THRIESEE SNTF=5. TRECOVERY (J A1) | F—%#WLET,

2. Time (B§f) T0601 (#) BRRIN., TZIHALHADY FEIUNBIBLET,

3. AYUREIYUNRETTEHE, AVEI—RIZUTO F1 i F6 FTOLEBEERORATRRTEINET,

F1 FEIZBATNDS
F2 BT

F3 &L

F4 EX2EX5)

F5 FHLUTF

F6 ZLW

J

2
(

REEBOKFITNESS.COM



ZJET ROWER
CONSOLE GUIDE

g1
RN

TheetE

b1l
SHkER
18 RFH HKFE

o8
BHILE
BUE AR

B/ A
BN AR B SR

o |
iy . FMI 15

Reebok

AR R

‘5 SIS A

l!lll.l l

Em?ll

ALORE

i
' q/

O

LW
0

lll!lll!‘

.m‘;

6
|
!

LLLL

gR
- PN

BX/HEAN BaEL

g1

BRIREE
ERSFLERNEHERS
ERBTRRERDH)

BafFLE
TR AL B

g7
WIEH DR ER

) 2 e

SPM
BoeaXTH

Bt [E]/500m
BIEYBIREFON TR 500m FRERETE,

}K
X EE B

BEE
KRRIEEE0.0-99. 9N EHKE LA

~HE
R R AR

X178
7 24 BB R P R RIAT IR

ki
ERAEFEAENLE,

REEBOKFITNESS.COM



ZJET ROWER

CONSOLE GUIDE

A

LCD 2

FEKX

1. MEXEH | ZERBF,

BRERRBD, ERFHER,

B\ A,

RBARHBANIR  BEHKE, BE, K (BEE ). MITH RE BKE, RAXNEIA
( BRBERR TR E MK ) o

5. R'BIMEILEMA , FREE.

0D

ERGHRR e :

SR DR KRB/ N R, BEERE KT
B BaELRE | B85
REMRAEEERSR,

HERFEHERR B, 8 WE-FRRE , #2488 FLIfk.

RIEER (P1-P12)

1. HEEXREG , BEOHREND ERREEX , RER BN LB,
2. EERHORNVERSE  EEEE P1-PR), REEE AN,
3. EWARRNVEHEIR ERERENKE, BE. K (BEE) . T RE BKE, RERAABEIA

(FAREH TR )
4 BWEBMELEE , FRES.

TR B B AT B R

o BRBURE ARV RE | WEE D KTE
- RBIELEA , TERE.

c RENRHDBERE,

HEXRTEWERR B, & WE-FRRE , 2488

L1l ]
1 1 1 1 T 1 [ |
AN AN AN AN AN AN AN AN AN AN ANAN
| [ AAAAAAAAL AL AL AN
NI I N N N N I N O N
Program 1
L] e e
[ | | [ | ] [ [ 1 ]
[ NI ANANAN ANANANAN
| -~ 1111111
X I N N N N I N O N

Program 3

L[\

| | |
ANANANANAN
L AAAAAAAA AT
AT N N N N O Y O

Program 5

L] L]
| |
[ N ] ANAN N N
[ [ ] L] 1] e P«
NI [N N N N I I A N
Program 7
-
HE =
ANAN ANANANANANAN
| [ L AAAAAAAAAL
]
Program 9
o e g e
[ 1 1 [ |
EEANANANAN ANANANAN
I e g g e L1117
]
1

Program 1

FIETH,
[ | L] L] L] L]
[ | | | | |
EE ESAN EAEN BN AN
Il PaPy PoPa PqPe PaPaP
NI I N N N I O O N
Program 2
1]
Nl Nl
ANANAN AN AN AN ANANAN
| | AAAAAAAAAAT-17]
] ]
Program 4
I e e e
1 [ [ T 11
ANAN AN AN AN AN AN ANANAN
L AAAAAAAAAAAL LA
] ]
Program 6
L1~
[ 1 1 [ |
SISININININININN
I I AAAAAAAL L1717
I I N N N N O N O N
Program 8
L1 -1 1]
[ 1 1 1 |
ANANAN AN AN AN ANANAN
L AAAAAAAAAAA LA
RFEN I N N N I O IO N
Program 10

| | |
AN ANAN

[ [ L1
NN I N N N N O O
Program 12

NZEN
NZEN
NN
ENZEN

REEBOKFITNESS.COM

Reebok



ZJET ROWER ; A

CONSOLE GUIDE Reebok
HRC. &= : AFER
1. EEXREH, BEAREN SR AER  REREA B,
1. EEREG WA, BIE HRC. BR , RER WA UBI, 2. BMAHEINE SRNEHKT  RAANEAT-MSXKE, (2% =16)
2. BRAREANE CER BWABREIL, 3. BEBNERIABAR .
3. & ZBHBEREKE - RGOSR N RAIERE 55%, 75%. 90% BB #R ( BRIAME : 100bpm ) o 4. FERRWAFORBHE (FOK) KITHAREFEKE , RABERBAANEIA. ( FARMRSERK, )
4 FEARFANTREE (KK ) TR AR, RERBABL (FTRZAERK. ) 5. ERIFLRE, TRl
5. BRIHMEILERA , FRES.

T 8% 45 HA (R 9 AE T Bt )
T 8% 5 28 (R 9 AE AT Bt ) - RBIELRE  GERE.

RENRHEARIERE,
BBHMFLEE , SRR,

ERRARAIRE, LEFHOWARE © 6 FH-FRRE  BHE FLIF,

HEXBEHERR N, 8 WI-FRRE  28E FLEIE

@
STROKES
&0
dd
W TN
I "
/|
T T WETACE
CLCTL LTI B i), v LA
[ X

. g R
tbER
1. EEXFES RPN, RRLEER | REEHAEIA, EEERLERN | BB LR,
2 BEARORINGE CHEEE  BW AN, (BAT -5 U100 500M L15-800 /500M B IEEERIA 1, —BERRUERE M R,

B : 0.30 BY[E/500M, “K"ERIAE : 500M ) 2 HET BF060 (D) HEK
- BRANELEG  THRILR, AR BEEOKT. 3. RREEN  SHDRFEF6 ERANLEEEES
4. UEHARAPBIARAN QW FLADTPCEIALE,

B RHIELEE , EERE. BEM, IR EXE,

F1 REHE
4 B A > F2 He
“um F3 Y

F4 — i

i -
LDISTANCE]

FHlE HE Ty -
JUl

REEBOKFITNESS.COM



ZJET ROWER
CONSOLE GUIDE

P A PROGRA R A SERREVEY

il

TIME[}500M

1| - .- .-, W,
@ W
. (LI
CALORIES '
Ay
LI

PULSE T ASAR AT, ,

m A J)1444 ~ 4

Hi
It ‘

2| Atk ] 3=
- j
] p=—J
Ote =]
=0l INESVESIN
/ MODE

I —
=R Jls 2| Al
o 83 X2
=)

2= 52 = U Hw= =01
Ml AlE A N )

2 HEE (2 0la 2= HER)
HE 42 =2

==
oral INEATESPN
) SE AR T =X

Mo Aret o
Net =28 &5 _

3=

et oS AR HAE
S10|
_/ —
SN E= M sl

TEMPS/500 M
S HSUE TEAI 500M0l SLatIINX el

AHel(01E)

=E A el

OHGEF A
=
2 = DHtII-A(_,_:’CI- ULEA)

Al2t

REEBOKFITNESS.COM



ZJET ROWER A

CONSOLE GUIDE Reebok
S T2 DE(P1-P12)
M A
22 HAIS 42 SO AIRGHA %O 20| (10| REZ S0 AIH, 22, Al 20t ZAISLIC 2. UP(Rl) = DOWN(OIZ) 2 =2 Z2E(P-PI2)2 MEI5t) ENTER(EQNE s SolstLIt
3. UP(9) == DOWN(OI2H) S =2 2 E RESISTANCE LEVEL(X & £2), TIME(AI2}H), METERS(212I(0IH)),
STROKES(L: ®= & 4=), CALORES(Z2¢2l), PULSE(RtS4)E &8st OIS ENTER(EIQHE =
EHOIELICHTIME(AI2E) 2t METERS(H2I(BIE))E SAIO ALY 83 & == ASLICH.

4. START/STOP(AIZH/EX) I8 =24 252 AMXELICH

25 & HHEX

«  UP(Rl) £= DOWN(OIe) 2 =4 M =2 T&8E = JAsU
+  STARTISTOPAIR/ZXE = 252 LAl XE = ASLITH
«  RESET(2IA)ES =2 U2 M2 S0t &= UASLIT
AL OC
TS L —
1. OO HI=0A START(A &) E =Lt - _ _
" B SEX0 SLoH Wots A2I0F LIBIA 2501 2= S LICH
2. UP(®) == DOWN(OIEH) S 21 5 ZEE A&HELIT
3. ENTER(EQ)E =2 &Ql&LICH
4. UP(9) E£= DOWN(OFH)E =21 RESISTANCE LEVEL(M & £ &), TIME(AIZ}), METERS(H2I(0IH)), == = - = = = =
STROKES(L= H= & =), CALORIES(Z22]) PULSE(U S ~)E HFSH TS ENTER(E Q) E =2f &lsLICH [ 1 1T 1 [ | | ] [ | [ [ |
= 2 Al o1 n ENANANANANANANAN AN ANANAN ANAN AN BSNNN BN
(TIME(AI 2D 3 METERS(H2I(DIE)E SAI0 AFE 8EE 2= atalo). R e P e P mn B BE BE Eew
_ AR I N OO S A
5. START/STOP(AI®/ZXI) I8 s21 252 AMEELICL Program | Program 2
i mE _=E w3z = EE
UP(2l) £= DOWN(OIEH)E i ME =F2 ZZEE = USLICh ] ] ] AN AN AN AN AN
=Te Lo oo SN BN e e e e e e e I % % e W Vot W Vot W o W o o
STARTISTOP(AI &/E XS 521 2SS LAl X £ ASLICH X I I N N O N I O
RESET(RIA)E =2 Mol Hiw2 S012 = ABLICH Program 3 Program 4
. [ 1 e e
SEXI0 S5 Wsts 2210 LIBA 20| Y SLICH 1 ] | [ [ [ 11
ANANANANAN ANAYAYANANANANANANANY
1 Ve o e Vot o 2 Wk ok 2 I e W Vot e Vot W ok Wt o Vot 2 ol
L 11 | w1 T {111
Program 5 Program 6
] [ ] 1~
[ [ | [ 1 | 11
[ N N NN N N | NSNS NNN]
. 2 e e Pa N I % % e W W W Wt 2 ot 2
11 1 (11 [ I [ {1 {1 11 [
Program 7 Program 8
[ 1 e e
| 1 1 | |
ANAY ANANANANANAY ANANANANANANANANANY
[ ] 1 e e Vet e Vo 2t ok W2t 2k I e ot W ot o W o o W ok
X I I N A Y I B
Program 9 Program 10
1 % e [ | 1] [ 1] [ 1]
1 1 | | [ | [ | [ | [ |
EANANANAN ANANANAN AN AN NN AN
I g e e e e e e N e 1 1]
AR I Y I I T N I I
1

Program 1 Program 12

REEBOKFITNESS.COM



ZJET ROWER

CONSOLE GUIDE

Y g /\
A

HRC. 2% :

1. O HsMA UP(RI) = DOWN(OIH)E =21 HRC. 252 MEHGtD ENTER(EHQNE s¢f
SHOIBHL| L

2. UP(%!) == DOWN(OI2H)S =21 AGE(LIOI)E et ENTER(EIQ)E S2f SH0ISHLICEH

£ dFELICHUP(RI) = DOWN(OIeH)E =21 55%, 75%, 90% = SEXI(JI=3h:
100bpm) & & EIBHA Al ).

4. UP(R) = DOWN(OF2H)E =2 TIME(AIZH) (& METERS(J121)), STROKES(\:= R 34),
CALORlES(a*EaI) A HEGD ENTER(E Q) E =2 2018 LICHTIME(AIZH I METERS(212l(
OIE)ZE SAI0 AFR 8XE &= iUt

5. START/STOP(AIE/ZX)E =2 2SS AIESLI

23 = HMEAX

. START/STOP(AI & /EX)E =2 2SS LAl X 4= UAsLIT

. RESET(2IA)E =21 U9 Hiw2 S0t & JASLITH

SEXH SEotH #idt= 220t LHEAM 22501 A S LILH

1. 02 Bil=0IA UP(RI) £= DOWN(OteH)S sef ellojlA 2E5 dE

2. UP(S1) = DOWN(OteH)E =i & S ZFot ) ENTER(ZQNE =i AELICHS el¥ =15, L1=100
TIME/S00M, L15=800 TIME/S00M, JI& &2 &2l: 030 TIME/S00M, J1& Hel: 500M)

A

3. START/STOP(AIZ/EXI) 91E =2 ell0IAS AIFELICH UP(R) £= DOWN(OI2H) 2 s ME =&
XA of}\lAlEE

ot ENTER(ZQ)E =cf &QIgLICh

o

4. ZE0ILI AIST 2542 SWoHHE BREIH ASS BF10 'PCWIn" £ "AFZ X Win'0l2t= BIIALRI Ot
HEAEUCH
5. 5. STARTISTOP(AIZ/ZX) 18 21 252 LAl FXIELICH HQ %2 S0toted™ RESET(2I4) S
SYA2.

¢ 1y
IRNRERRERRENER

(RN O |
/14

1. OIQ HISOA UP(R) = DOWN(OIH)E S AI2X REZE HE5ID ENTER(BIONE 52

2. UP(R) &= DOWN(OIZH)S =21 2 €9 M&t === A6 OIS ENTER(EQ)E =2 TS
(€ Mz== = 1600Y).

3. HAEZS 0XIDJILI S35t ENTER(ZQ)E 2 S2AAI2

4. UP(Rl) €= DOWN(OIeH)E s TIME(AIZH(E£= METERS(2H2I)), STROKES(L: H =
PULSE(9HEl~)E AIE S&X St ENTER(EQNE =2 IELICHTIME(AIZH) I METE
AN &= &L

5. START/STOP(AIZH/ZX]) 18 =2 2SS AIEESLIC

2= = HHEX
START/STOP(AIE/ZEX)E 521 2SS LAl
RESET(2IA) S =2f niel =

SHXOM SEotH Widt=s 2210t HEA 2501 "= ELICH

minn
OO RO O
TV

= HEoH0F ELICH
+=£ RECOVERY(&l=) 9I1E S+&LIC
2. TIME(AIZE) CIAZS0l0l “0:60" (=)0l EAIZI D =410t AIZELICH
3. EHIII2ZEH MEXS &= 2|5 H==0 et HAIZAM F1 ~ F60I ZEAIELICH

F1 2D E9 51
F2 ESin)

F3 P2

F4 25

F5 A 0|5t

F6 Lt

Reebok

2l2x), CALORES(Z=22l),
RS(HEI(OIE))E SAIN AFX

REEBOKFITNESS.COM



ZJET ROWER

CONSOLE GUIDE

- A

TP AL RO R K ERREVEN 1M

TIME§500M

P

| TOTAL) STROKES

CALORES y

%;.g TORQUEDISTANCELLL

Act
Hi
& It \

CBPOC X
BHU3
BBOA
/ MODE

OYHKLMN KHOMOK

BeBepx

HacTpoiika Beibopa
YBenMyeHve ypoBHA CNOXHOCTH

BHKM3

HacTporika Beibopa
CHXEHNE YPOBHA CNOXHOCTM

BBOA

MOATBEPAUTL HACTPOWKY N BEIOOP

PULSERe AR A s

44444

BOCCTAHOBNEHVE

BBepx

CTAPT/CTON

CBPOC

OUMCTUTE HACTPOMKY

BosBpart K raBHOMY MEHIO B KOHLIE TREHNOOBKM
Mepesarpyska (HaxaTb 1 yAepXKVBaTb B TeUeHVe
LBYX CEKYHA)

CTAPT/CTOIN

HauaTb 1n oCTaHOBUTL TPEHMPOBKY

BOCCTAHOBNEHMVE

MpoBEepKa BOCCTAHOBNEHWA CEPASYHOrO pUTMa

OyHKLUMN KOMMblOTEPA

FPEBKN/MUH. (KONMYECTBO MPEEKOB B MUHYTY)

KonnuyecTBo rpebkoB B MUHYTY

BPEMA/500 M

PacueTtHoe BpemA 3aseplleHna ancTaHumm 500 M NMon TeKyLLEN CKOPOCTH

METPbI

pebHanA pMcTaHuVA

KANOPNIN

KONMYECTBO Kanopuii, CropeBLNX BO BOEMA TEKYLLEN TOEHUPOBKM

KANOPUIA

Calories burnt during current workouT.

KONMYECTBO IMPEBKOB

Konm4ecTBo I'pe6KOB B TEYEHME TeKyLLEN TOEHNOOBKN

NYNbC

MynbC BO BpeMA TREHWPOBKY (YyAapOB B MUHYTY).

Reebok

REEBOKFITNESS.COM



ZJET ROWER LN

CONSOLE GUIDE Reebok

NCMNONb3OBAHVE TPEHAXEPA MPOrPAMMHBbIV PEXM (P1-P12)

BKNAKOYEHUE 1. ”Bb\6e|o‘!/|Te MporpamMMHbI PEXM” B TNaBHOM MEHIO MOW MOMOLLM KHOMOK “BBEPX” n "BHN3" 1 HaxxmmnTe
BBOLA” ApnA NOATBEDXASHUA.

KOMI‘IbPOTep BKNKOHaEeTCA aBTOMaTUHECK MpK NMOAKNAKOHEHNN TOEHaXePa K CETY, MoK STOM BCE SNEeMEHTLI MHAMKaLUWM

OTOBPAXAIOTCA Ha BKAHE B TEUEHME 2 CEKYHA 2. Tpw nomoum kHonok “BBEPX” 11 “BHIN3” BeibepuTe nporpammy (P1-P12) 1 Haxmmnte “BBOL ana

MNOATBEOXASHWA

3. [lpn nomowm kKHomok “BBEPX” n "BH3" yctaHosuTe Leneson "YPOBEHB CNOXHOCTIY, "BPEMA”, "METPbI”
(amcTaHuva), "KONHECTBO MPEBKOB’, “KANOPUIN 1 “TIYNBC”, 3aTem HaxmumnTe “BBOA anA
noaTeepxAeHVA. (Henb3A OAHOBPEMEHHO YCTaHaBNBaTb BOEMA 1 METPSI).

Ecnin rpebHoV TpeHaxep He MCMONb3YETCA B TedeHNe 4 MVHYT, KOMMbIOTED NEPEXOANT B PEXVM OXMAGHNA C OTODPaXeHMEM
YaCOB, KaneHAaPA 1 TeMnepaTypsl MOMELEHNA,

4. Haxmute "CTAPT/CTOIT” pna Hadana TREHUDOBKM.

B ntoboM MOMEHT B XOAE TOEHUPOBKI MOXHO!

. VI3BMEHUTLYPOBEHD CNOXHOCTU KHOMKam “BBEPX" 1 "BHING".
. OCTaHOBUTb TREHUPOBKY HaxaTtem kHomkm “CTAPT/CTON”,
. BepHyTbcAB rasHoe MeHto, Haxkas “CBPOC”,

PYYHOW PEXWM

1 B rnaBHOM MeHIO HaxmuTe KHoMky “CTAPT”,

NOCTIMKEHWE 3apaHHbIX HACTPOEK COMPOBOXAAETCAH 3BYKOBbIM CUMHaNOM OCTaHOBKOW KOMMbIoTEPAa.

2. Mpw nomowm kHomok “BBEPX” 1 "BH3” BrIbepuTe "PyuHOM DEXIM”, I A —] . ] . .
3. AnA noatBepxaeHNA HaxmuTe "BBOA I g W e o Wt Wt W ot W2 2 AN PP PaPe PRaPa VeV
NI I I N N AN NN T N I O I O
4. Tlpy nomMoLm KHomok "BBEPX” 1 "BHING” yctarosuTe "YPOBEHL CNOXHOCTIY, "BPEMA”, "METPbI” Program 1 Program 2
(amnctaHumA), ‘KONVHECTBO MPEBKOB’, “"KANOPNIN" 1 “TIYNBC”, 3aTemM HaxmmnTe ‘BBOL” Ana
NOATBEPXASHVA (HEN3A OAHOBOEMEHHO YCTaHaB\MBaTb BPEMA 1 METPSLI).
e L] L 1] 1]
5  Haxwmute "CTAPT/CTOIT anA Hadana TREHWPOBKM, | | | | [ | Il
NN ANANAN ANANANANY ANANANANANANANANAN
I AN g g g e g g g o e | | AAAAAAAA AL L]
N I N N N N I N I I O N
B nioBOM MOMEHT B XOAS TOEHUPOBKIN MOXHO! Program 3 Program 4
*  VI3MEHUTb YPOBEHb CNOXHOCTU KHOMKamy “BBEPX” 1 "BHING".
+ OCTaHOBUTb TPEHWPOBKY HaxaTuem KHomku “CTAPT/CTOlT”, T [ ---====
ANANANANANY ANANANANANANANANANAN
+  BepHyTbcA B rasHoe MeHto, Haxas "“CBPOC”. I ot ot Vot Vot ot ot ot ot o et I Vo Vot ot Vot Vot ot ot ot Vot ot ot et
INEEN N N Y N AN T N N I N O
LoCTVXEHWE 3apaHHBIX HACTPOEK COMPOBOXAAETCA 3BYKOBHEIM CUIHaNOM ¥ OCTAHOBKOW KOMMbIOTEPA., Program 5 Program 6
L] L] 1]
| | .
[ N N AN N N EEANANANANANANANANAN
[ L] L] L 17| P P« | | IAAAAALALAL L L1
NEEN I I N N N T N I I O
Program 7 Program 8
L] L1171
Nl . [ | 1 |
NN ANANANANANAY ANANANANANANANANAN
[ | L AAANAAAA L7 L ANAAAAAAA AL AL 7L
I I N N N N I I O
Program 9 Program 10
L L1 -1 7] [ 1] 1] 1] 1]
[ [ 1 | [ | | [ | ] [ 1 | [ 1 |
L ININININ ANANANAN [ N NN NN N
I e e e I e e e [ 1] 17 L] L1~
NN I O I N N I I O B
Program 11 Program 12

REEBOKFITNESS.COM



ZJET ROWER

CONSOLE GUIDE

PeX1M KOHTPONA YacToTbl NynbcCa:

1.

BeibepuTe “PexiiM KOHTPONA 4acTOThl Mynsca” B MaBHOM MEHIO NPK MOMOLLM KHOMOK “BBEPX” 11 “BHING" 1 Haxwmmnte "BBOLA anA
NMOATBEDXASHNA,

Mpw nomoLm kKHomok "BBEPX” 1 "BHI3” BriGepuTe "BO3PACT” 11 HaxxmuTe “BBOL AnA MOATBEDNKAEHWA

YCTaHoBWTE LIeNeBYIO YaCcTOTy NynbCa — MPW MOMOLLM KHOMOK “BBEPX” 11 "BHI3" BoibepuTe 55%, 75%, 90% nni “Llenesoe
3HadeHne” (Mo ymondaruio: 100 yA/MUH.).

My NomMoLLM KHOMOK "BBEPX” 1 "BHING” BrIGepuTe "BPEMA” (nt “‘MeTpsr’), "KONHECTBO MPEBKOB’, "KANOPI 11 HaxmMmnTe
‘BBOL anA noaTBepxaeHNA (HenbaA OAHOBPEMEHHO YCTaHaBN/BaTb BPEMA U METPHI).

Haxxmute "CTAPT/CTOMN” anA Havana TOEHNPOBKN,

B nio©olt MOMEHT B XOne TOEHNPOBKK MOXHO!

»

OCTaHOBMDBHMPOBKY HaxxaTem KHomku "CTAPT/CTOIT,

BepHyTBamasHoe MeHto, Haxkas "“CBPOC”.

LNOCTMXEHNE 3anaHHbIX HACTPOEK COMPOBOXAAETCH 3BYKOBbIM CUMHANOM U OCTaHOBKOW KoMMbloTEePa.

114

Pexnm roHku

1

BoibepuTe “PexiM FoHKU' B FN@BHOM MEHIO MoK MOMOLLM KHOMOK “BBEPX” 1 “BHI3” 11 HaxxmuTe "BBOLA" ana
MOATBEXASHMA,

Moy nomoLLm kHomok “BBEPX” 11 "BHING” ycTaHosnTe "ypoBeHb FOHKU™ 11 HaxmmnTe "BBOL AnA MOATBEDXASHMA.
(OowmM yposeHs = 15, L1=1.00 BPEMA/S00 M, L15=800 BPEMA/S00 M, yBenndeHe Temna no ymondanumo: 0.30
BPEMA/S00 M, AnCTaHLmA B MeTpax no ymondanmio: 500 m).

Haxmute “CTAPTICTOMN” aonA Havana TReHWPOBKM. 1o noMoLLM KHoMok “BBEPX” 1 “BHING” BeibepuiTe ypoBeHs
CNOXHOCTW.

B 3aB1CUMOCTV OT TOIrO, KTO NepBbiIM AOCTUMHET q)VIHI/ILLIHOM NAHNK, TOEHaXeP MOKaXeT
nobeanTena — NoNbL3oBaTENA NN KOMMbIOTEP.

Haxwmmte "CTAPT/CTON, 4ToObl NPMOCTaHOBUTL TREHNOOBKY. ANA BO3BPATA B MABHOE MEHIO
HaxmurTe "CBPOC”.

LTI
P

A

Reebok

Pexum NMONB3OBATENA

1

5.

Beibepute “Pexxiim MONB3OBATENA" B rnaBHOM MEHIO MoK MOMOLLM KHOMOK "BBEPX” 11 "BH3" 1 HaxxmumTe "BBOL" anA
NOATBEDXKAEHNA.

Press UP or DOWN to set resistance level of each column, and press ENTER to proceed to the next segment. (Total
columns = 16)

ANnA 3aBEpLWEeHnA NN BEIXOAA M3 HACTPOEK HaxkmnTe 1 yacpxmsanTe "BBOL

Mpw noMoLLm KHomok “BBEPX” 1 "BHI3" ycTaHosKTe “BPEMA” (nnn “MeTpsl’), "KONVHECTBO IMPEBEKOB”, “KANOPNIN® 1
TIYNbC” 1 HaxkmuTe "BBOLY AnA MOATBEPXAEHWA. (HEnb3A OAHOBPEMEHHO YCTaHaBNMBATE BPEMA U METPbI),

Haxmute “CTAPT/CTON” AnA Havana TOEHNPOBKM.

B niobot MOMEHT B XOAE TPEHWPOBKIN MOXHO:

OCTaHOBUTL TPEHWNPOBKY HaxaTnem KHomnku “CTAPT/CTOTT”.

BepHyTbCA BrnasHoe MeHto, Haxas “CBPOC”.

LOCTKEHNE 3apaHHbIX HaCTPOEK COMpOBOXAAETCAH 3BYKOBbIM CUMHAN0OM U OCTaHOBKOW KOMMbIOTEDPa

PEXNM BOCCTAHOBNEHWA

You must wear a heart rate chest strap for this program.
1.
2.
3

MNocne obHapyXeHMA NynbCa KOMMBIOTEPOM HaXMUTE “PexumM BOCCTaHOBNEHNA',
"BPEMA” ycTaHaBnvBaeTcA Ha 3HadeHur 0.60 ¢ obpaTHEIM OTCHETOM.

MNocne saBeplieHMA 0DPaTHOrO OTCUETa KOMMBIOTED ONPEAENUT YPOBEHDb BOCCTAHOBNEHMA CEPASHHOrO pUTMa Mo
wkane ot F1 po F6:

F1 VAEANBHO

F2 OTAHYHO

F3 XOPOLLO

F4 YAOBNETBOPUTENBHO
F5 HVKE CPEAHETO

F6 MNOXO

REEBOKFITNESS.COM





